

Miroslav Fiedler

Positivity with Respect to the Round Cone

*Matematický časopis*, Vol. 24 (1974), No. 2, 155--159

Persistent URL: <http://dml.cz/dmlcz/126600>

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1974

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

## POSITIVITY WITH RESPECT TO THE ROUND CONE

MIROSLAV FIEDLER

*Dedicated to Professor Štefan SCHWARZ on the occasion of his sixtieth birthday*

In this note we shall first find formulae for the minimum of a quadratic non-homogeneous function on a sphere. Then we obtain necessary and sufficient conditions for a quadratic form to be copositive with respect to the round selfdual cone and for a linear operator to be positive with respect to this cone.

We shall choose the coordinate system in an  $n$ -dimensional Euclidean space  $E_n$  in such a way that the round selfdual cone is given by

$$C_r = \{ \mathbf{x} \mid x_1 \geq (\sum_{k=2}^n x_k^2)^{1/2} \}.$$

Vectors will always be real. By the norm  $\|\mathbf{z}\|$  of a vector  $\mathbf{z}$  we mean the usual Euclidean norm  $(\sum z_i^2)^{1/2}$ .

We shall also use the Moore-Penrose generalized inverse  $\mathbf{A}^+$  of a matrix  $\mathbf{A}$  (see e.g. [3]).

Let us prove first a lemma:

**Lemma.** *Let  $m \geq 1$ , let  $d_1, d_2, \dots, d_m, b_1, b_2, \dots, b_m$  be real numbers. Then*

$$\min_{\substack{\mathbf{x}, \sum_{i=1}^m x_i^2 \leq 1}} \left( \sum_{i=1}^m d_i x_i^2 + 2 \sum_{i=1}^m b_i x_i \right) = f(\lambda_0),$$

where  $f(\lambda) = \lambda - \sum_{\substack{i=1 \\ b_i \neq 0}}^m \frac{b_i^2}{d_i - \lambda}$  and  $\lambda_0$  is the minimal real zero of the polynomial

$$g(\lambda) = \lambda \left( \sum_{\substack{i=1 \\ b_i \neq 0}}^m \frac{b_i^2}{(d_i - \lambda)^2} - 1 \right) \eta^2(\lambda),$$

$\eta(\lambda)$  being the least common multiple of the polynomials  $d_i - \lambda$ ,  $i = 1, \dots, m$ .

Proof. Let us denote  $M = \{1, 2, \dots, m\}$ ,  $M_1 = \{i \in M | b_i \neq 0\}$ ,  $M_2 = M \setminus M_1$ ,

$$\varphi(\lambda) = \sum_{i \in M_1} \frac{b_i^2}{(d_i - \lambda)^2}.$$

We have

$$(1) \quad g(\lambda) > 0 \quad \text{for } \lambda \rightarrow -\infty,$$

and also  $g(0) = 0$  so that

$$(2) \quad \lambda_0 \leq 0.$$

Let us show that

$$(3) \quad \lambda_0 \leq \min_{i \in M} d_i.$$

Suppose  $d_i < \lambda_0$  for some  $i \in M$ . Then  $d_i < 0$  by (2) while

$$(4) \quad g(d_i) = d_i \left( \sum_{k, d_k = d_i} b_k^2 \right) (\eta'(d_i))^2 \leq 0.$$

This is a contradiction to (1) and  $g(\lambda_0) = 0$ .

By (3),  $\varphi(\lambda)$  is continuous in  $(-\infty, \lambda_0)$ . Since  $\varphi(\lambda) < 1$  for  $\lambda \rightarrow -\infty$ , it follows that

$$(5) \quad \varphi(\lambda_0) \leq 1.$$

Since  $\eta'(d_i) \neq 0$ , it follows also from (4) that  $\lambda_0 = d_i < 0$  only if  $b_k = 0$  for all  $k$  for which  $d_k = d_i$ .

Moreover, let us show that  $\lambda_0 = d_i = 0$  also implies  $b_k = 0$  for all  $k$  for which  $d_k = d_i$ . But this is an easy consequence of (1) and of the fact that then

$$g'(0) = \left( \sum_{k, d_k = 0} b_k^2 \right) (\eta'(0))^2.$$

Thus,  $\lambda_0 = d_i$  always implies  $i \in M_2$ .

Define now a vector  $\tilde{\mathbf{x}} = (\tilde{x}_1, \dots, \tilde{x}_m)$  by

$$\begin{aligned} \tilde{x}_i &= -b_i / (d_i - \lambda_0) & \text{if } i \in M_1, \\ \tilde{x}_i &= 0 & \text{if } i \in M_2, \end{aligned}$$

with the only exception that if  $\lambda_0 = d_s < 0$  for some  $s$ , we put  $\tilde{x}_s = (1 - \varphi(\lambda_0))^{1/2}$  for exactly one such  $s$ .

By (5),  $\|\tilde{\mathbf{x}}\| \leq 1$ , and  $\|\tilde{\mathbf{x}}\| < 1$  only if  $\lambda_0 = 0$ . The equality

$$(d_i - \lambda_0)x_i^2 + 2b_ix_i = (d_i - \lambda_0)(x_i - \tilde{x}_i)^2 - b_i^2/(d_i - \lambda_0),$$

which holds for all  $x_i$ 's whenever  $i \in M_1$  (and thus  $d_i - \lambda_0 \neq 0$ ), yields:

If  $\mathbf{x} = (x_i)$  is any vector such that  $\|\mathbf{x}\| \leq 1$ , then

$$\begin{aligned} \sum_{i \in M} d_i x_i^2 + 2 \sum_{i \in M} b_i x_i &= \lambda_0 \sum_{i \in M} x_i^2 + \sum_{i \in M} (d_i - \lambda_0) x_i^2 + 2 \sum_{i \in M_1} b_i x_i = \\ &= \lambda_0 \sum_{i \in M} x_i^2 + \sum_{i \in M} (d_i - \lambda_0) (x_i - \tilde{x}_i)^2 - \sum_{i \in M_1} b_i^2 / (d_i - \lambda_0) \geq \\ &\geq \lambda_0 - \sum_{i \in M_1} b_i^2 / (d_i - \lambda_0) = f(\lambda_0). \end{aligned}$$

Moreover, equality is attained for the vector  $\tilde{\mathbf{x}}$ . The proof is complete.

**Theorem 1.** Let  $\mathbf{A}$  be a symmetric  $m \times m$  matrix,  $\mathbf{c}$  an  $m$ -dimensional column vector. Then,

$$\min_{\mathbf{x}, \|\mathbf{x}\| \leq 1} (\mathbf{x}^T \mathbf{A} \mathbf{x} + 2\mathbf{c}^T \mathbf{x}) = \lambda_0 - \mathbf{c}^T (\mathbf{A} - \lambda_0 \mathbf{I})^+ \mathbf{c},$$

where  $\lambda_0$  is the minimal real zero of the polynomial

$$g(\lambda) = \lambda(\mathbf{c}^T (\mathbf{A} - \lambda \mathbf{I})^{-2} \mathbf{c} - 1) \mu^2(\mathbf{A}; \lambda),$$

where  $\mu(\mathbf{A}; \lambda)$  is the minimal polynomial of  $\mathbf{A}$ .

Remark. Instead of  $\mathbf{c}^T (\mathbf{A} - \lambda_0 \mathbf{I})^+ \mathbf{c}$  one can take the number  $\mathbf{c}^T \mathbf{u}$ , where  $\mathbf{u}$  is any solution of the system  $(\mathbf{A} - \lambda_0 \mathbf{I}) \mathbf{u} = \mathbf{c}$ .

Proof. If  $\mathbf{A}$  is diagonal,  $\mathbf{A} = \text{diag} \{d_1, \dots, d_m\}$ , the theorem follows from the Lemma immediately. The remark is also true, since  $d_i - \lambda_0 = 0$  implies  $c_i = 0$ . To prove the general case we use the well known fact that there exists an orthogonal matrix  $\mathbf{U}$  and a diagonal matrix  $\mathbf{D} = \text{diag} \{d_1, \dots, d_m\}$  such that

$$\mathbf{A} = \mathbf{U} \mathbf{D} \mathbf{U}^T.$$

Define the vector  $\mathbf{b} = \mathbf{U}^T \mathbf{c}$ . Then, if we put  $\mathbf{U}^T \mathbf{x} = \mathbf{y}$ , we have

$$\min_{\mathbf{x}, \|\mathbf{x}\| \leq 1} (\mathbf{x}^T \mathbf{A} \mathbf{x} + 2\mathbf{c}^T \mathbf{x}) = \min_{\mathbf{y}, \|\mathbf{y}\| \leq 1} (\mathbf{y}^T \mathbf{D} \mathbf{y} + 2\mathbf{b}^T \mathbf{y}).$$

On the other hand,

$$\begin{aligned} g(\lambda) &= \lambda(\mathbf{b}^T \mathbf{U}^T \mathbf{U} (\mathbf{D} - \lambda \mathbf{I})^{-2} \mathbf{U}^T \mathbf{U} \mathbf{b} - 1) \mu^2(\mathbf{A}; \lambda) = \\ &= \lambda(\mathbf{b}^T (\mathbf{D} - \lambda \mathbf{I})^{-2} \mathbf{b} - 1) \mu^2(\mathbf{D}; \lambda), \end{aligned}$$

$$\mathbf{c}^T (\mathbf{A} - \lambda_0 \mathbf{I})^+ \mathbf{c} = \mathbf{c}^T \mathbf{U} (\mathbf{D} - \lambda_0 \mathbf{I})^+ \mathbf{U}^T \mathbf{c} = \mathbf{b}^T (\mathbf{D} - \lambda_0 \mathbf{I})^+ \mathbf{b} = \sum_{i \in M_1} \frac{b_i^2}{d_i - \lambda_0}$$

and the general case follows from the Lemma as well.

It is well known (cf. [1], [2]) that a quadratic form  $Q(x)$  is called copositive on a selfdual cone  $C = C^*$  iff  $Q(\mathbf{x}) \geq 0$  whenever  $\mathbf{x} \in C$ . Let now  $C_r = \{\mathbf{x} \mid x_1 \geq \geq (\sum_2^n x_i^2)^{1/2}\}$ .

**Theorem 2.** Let  $\mathbf{B} = \begin{pmatrix} b_{11}, & \mathbf{b}_1^T \\ \mathbf{b}_1, & \mathbf{B}_{22} \end{pmatrix}$  be a symmetric matrix. The quadratic form  $(\mathbf{B}\mathbf{x}, \mathbf{x})$  is copositive on the cone  $C_r$  iff

$$b_{11} + \lambda_0 - \mathbf{b}_1^T (\mathbf{B}_{22} - \lambda_0 \mathbf{I}_2) \mathbf{b}_1 \geq 0$$

where  $\mathbf{I}_2$  is the identity  $n - 1$  by  $n - 1$  matrix and  $\lambda_0$  is the minimal real zero of the polynomial

$$g(\lambda) = \lambda(\mathbf{b}_1^T (\mathbf{B} - \lambda \mathbf{I})^{-2} \mathbf{b}_1 - 1) \mu^2(\mathbf{B}; \lambda),$$

$\mu(\mathbf{B}; \lambda)$  being the minimal polynomial of  $\mathbf{B}$ .

*Proof.* Clearly  $(\mathbf{B}\mathbf{x}, \mathbf{x})$  is copositive on  $C_r$  iff it attains nonnegative values for all vectors  $\hat{\mathbf{x}} = \begin{pmatrix} 1 \\ \tilde{\mathbf{x}} \end{pmatrix}$ , where  $\|\tilde{\mathbf{x}}\| \leq 1$ . But  $(\mathbf{B}\hat{\mathbf{x}}, \hat{\mathbf{x}}) = b_{11} + 2\mathbf{b}_1^T \tilde{\mathbf{x}} + (\mathbf{B}\tilde{\mathbf{x}}, \tilde{\mathbf{x}})$  and this condition is equivalent to

$$\min_{\tilde{\mathbf{x}}, \|\tilde{\mathbf{x}}\| \leq 1} ((\mathbf{B}\tilde{\mathbf{x}}, \tilde{\mathbf{x}}) + 2\mathbf{b}_1^T \tilde{\mathbf{x}}) \geq -b_{11}.$$

From the preceding theorem the assertion follows then immediately.

We can now find a necessary and sufficient condition for a matrix  $\mathbf{A}$  to be a positive operator with respect to  $C_r$ , i. e. to have the property that  $\mathbf{A}\mathbf{x} \in C_r$  for every  $\mathbf{x} \in C_r$ .

**Theorem 3.** A necessary and sufficient condition for a matrix

$$\mathbf{A} = \begin{pmatrix} a_{11} & \mathbf{a}_1^T \\ \mathbf{a}_2 & \mathbf{A}_n \end{pmatrix}$$

to be a positive operator with respect to the round cone  $C_r$  is that

$$a_{11} \geq \|\mathbf{a}_2\|$$

and

$$a_{11}^2 - \|\mathbf{a}_2\|^2 + \lambda_0 - (a_{11}\mathbf{a}_1^T - \mathbf{a}_2^T \mathbf{A}_n)(\mathbf{a}_1 \mathbf{a}_1^T - \mathbf{A}_n^T \mathbf{A}_n - \lambda_0 \mathbf{I}_2)^+ \cdot (a_{11}\mathbf{a}_1 - \mathbf{A}_n^T \mathbf{a}_2) \geq 0,$$

where  $\mathbf{I}_2$  is the  $(n - 1)$ -rowed identity matrix and  $\lambda_0$  is the minimal real zero of the polynomial

$$\lambda((a_{11}\mathbf{a}_1^T - \mathbf{a}_2^T \mathbf{A}_n)(\mathbf{a}_1 \mathbf{a}_1^T - \mathbf{A}_n^T \mathbf{A}_n - \lambda \mathbf{I})^{-2} (a_{11}\mathbf{a}_1 - \mathbf{A}_n^T \mathbf{a}_2) - 1) \mu^2(\lambda),$$

where  $\mu(\lambda)$  is the minimal polynomial of  $\mathbf{a}_1 \mathbf{a}_1^T - \mathbf{A}_n^T \mathbf{A}_n$ .

Proof. Clearly  $\mathbf{A}$  is a positive operator on  $C_r$  iff for any  $(n - 1)$ -dimensional vector  $\mathbf{x}_2$  and any number  $x_1$  satisfying  $x_1 \geq \|\mathbf{x}_2\|$  we have

$$a_{11}x_1 + \mathbf{a}_1^T \mathbf{x}_2 \geq \|\mathbf{A}_n \mathbf{x}_2 + \mathbf{a}_2 x_1\|.$$

This is equivalent to

$$a_{11}x_1 + \mathbf{a}_1^T \mathbf{x}_2 \geq 0$$

and

$$(a_{11}x_1 + \mathbf{a}_1^T \mathbf{x}_2)^2 - (\mathbf{x}_2^T \mathbf{A}_n^T + x_1 \mathbf{a}_2^T)(\mathbf{A}_n \mathbf{x}_2 + \mathbf{a}_2 x_1) \geq 0.$$

Hence  $\mathbf{A}$  is a positive operator iff both conditions

$$(i) \quad a_{11} \geq \|\mathbf{a}_1\|$$

and

(ii) the quadratic form  $(\mathbf{B}\mathbf{x}, \mathbf{x})$  is copositive on  $C_r$ ,  
are fulfilled, where

$$\mathbf{B} = \begin{pmatrix} a_{11}^2 - \|\mathbf{a}_2\|^2, & a_{11}\mathbf{a}_1^T - \mathbf{a}_2^T \mathbf{A}_n \\ a_{11}\mathbf{a}_1 - \mathbf{A}_n^T \mathbf{a}_2, & \mathbf{a}_1 \mathbf{a}_1^T - \mathbf{A}_n^T \mathbf{A}_n \end{pmatrix}.$$

From Theorem 2 it follows immediately that this is equivalent to the assertion of the theorem.

#### REFERENCES

- [1] HAYNSWORTH, E. V., HOFFMAN, A. J.: Two remarks on copositive matrices. *Linear Algebra*, 2, 1969, 387–392.
- [2] MOTZKIN, T. S.: Copositive quadratic forms. National Bureau of Standards Rept. No 1818, 1952, 11–12.
- [3] PENROSE, R.: A generalized inverse for matrices. *Proc. Cambridge Phil. Soc.*, 51, 1955, 406–413.

Received December 20, 1972

*Matematický ústav ČSAV  
Žitná 25  
115 67 Praha.*